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4.3.2
300mmx 500mm 1 500mmx 500mm
2 4.19
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@
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4.23

4.24
LD-5

500mm

1

4.25



(50cm>50cm)

I..----

manikin

K ) n=3 1.64x 10-* mg/m*/cpm

4.3.3 L)

E(mg/m*) (4.0 Q

) 3.0
E(mg/m»= TQ” 4.1)

0% 3.0 mg/m?

1710
1/10 0.3 mg/m?

0.15 mg/m?

2)
0.15 mg/m?
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4.3.4

4.2 4.3

Dalla Valle (4.2 Q(m*/min)
X(m) A(Mm*)
Q=60x Vx (5X2+Wx L) 4.2)
Q: (m¥/min) V: (n/s) X: (m)
W: (m) L: (m)
4.2
m/s m/s

m | m¥/min m/s
0.30 1.0 0.03 0.03 0.01
2.0 0.06 0.06 0.04
3.2 0.09 0.21 0.04
0.45 7.0 0.10 0.13 0.05
10 0.14 0.14 0.10
15 0.21 0.24 0.11
0.60 10 0.09 0.13 0.04
15 0.13 0.15 0.10
20 0.17 0.20 0.17

4.3
m/s m/s

m | m¥/min m/s
0.50 10 0.11 0.07 0.13
15 0.17 0.12 0.21
20 0.22 0.18 0.28
0.75 25 0.14 0.13 0.16
30 0.16 0.15 0.22
35 0.19 0.20 0.28
40 0.22 0.21 0.28

4.2 4.3 4.26 4.26

4.26




— iR E

o VARFVEL

ol 0.5 e VARFLHY
= 0.4
0.3 ¢ _®
0.2 o %
o S .'
0.00 0.05 0.10 0.15 0.20 25
HERE m/s
4.26
4.26
4.4
4.5
4.4 1
" m/min)
1.00 0.003 | 0.009 | 0.215 | 0.000 | 0.004 | 2.014 | 2.744
A-Line 2.00 0.002 | 0.002 | 0.002 | 0.000 | 0.004 | 0.003 | 0-388
0.3 3.20 0.002 | 0.002 | 0.002 | 0.000 | 0.004 | 0.003 | 0.017
1.00 0.066 | 0.679 | 0.194 | 0.000 | 0.004 | 1.396 | 15.979
B-Line | 2.00 | 0.002 | 0.165 | 0.002 | 0.000 | 0.004 | 0.003 | 4.716
3.20 0.002 | 0.002 | 0.002 | 0.000 | 0.004 | 0.003 | 0.000
6.96 0.002 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 6-958
A-Line | 10.04 | 0.002 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.271
0.45 14.88 | 0.002 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
6.96 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.002 | 0.099
B-Line | 10.04 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.002 | 0.000
14.88 | 0.002 | 0.001 | 0.002 | 0.003 | 0.003 | 0.002 | 0.000
9.69 |0.002 | 0.002 | 0.002 | 0.003 | 0.004 | 0.003 | 18.159
A-Line | 15.27 | 0.002 | 0.002 | 0.002 | 0.003 | 0.004 | 0.003 | 7.477
0.6 20.04 | 0.002 | 0.002 | 0.002 | 0.004 | 0.004 | 0.003 | 0.128
9.69 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.256
B-Line | 15.27 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
20.04 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
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4.5 2

T | @/min)
9.20 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.003 | 14.217
A-Line | 14.09 | 0.002 | 0.002 | 0.002 | 0.004 | 0.003 | 0.002 | 4.463
0.5 19.13 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.002 | 0.028
’ 9.20 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.002 | 0.614
B-Line | 14.09 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.002 | 0.336
19.13 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.002 | 0.001
24.99 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 14.233
A-Line 30.02 | 0.001|0.001 | 0.001|0.003|0.003|0.002 | 16.006
35.23 | 0.001 | 0.001 | 0.001|0.003|0.003|0.002 |12.667
0.75 40.24 | 0.001 | 0.001|0.001|0.003 |0.003|0.002 | 3.173
) 24.99 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.004
B-line 30.02 | 0.001|0.001|0.001|0.003 |0.003|0.002 | 0.000
35.23 | 0.001|0.001|0.001|0.000 |0.003|0.002 | 0.000
40.24 | 0.001 | 0.001|0.001|0.003 | 0.003|0.002 | 0.000
4.4 4.5 A-Line
B-Line 2
1 A-Line 0.6m
4.27 4.29
0.5m/s
4.27

4.27 10m®/min 7
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4.28

20mé/min
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4.29
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4.4

0 mg/m?
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4.32

2
an
y=-0.011x+24
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—
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HEAEE ' min
4.32
4.32
0(mg/m®) X
4.33
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Valle 4.3) 1 2 (4.4
4.33
Q=60x 1.0x (5X?+0.3x 0.5) =300 X?+9 (4.3)
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(4.1) 0.45m
Qm*/min vm/s
Q 60x Vx {5x (0.45)%+0.3x 0.5} 69.75V
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L 1.5
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% (1.0 n/s) % Q
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0.2
L (4.10)
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L
W L w L (4.11)
W L 0.2W (4.11)
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60x  Vx {11.25W*+Wx W}
Q>60x  Vx {11.25x (0.2W)2+0.2 W}
= 60x Vx 12.25W? Q > 60x  Vx 0.65W?

N 73502 V. Q 3902 V (4.12)
(4.12) W=0.5 W=1.0 (4.13)  (4.14)
4.35
184 V. Q 9.75 V (4.13)
735 V. Q 39 V (4.14)

20 /
18
.. /
ki V=0.02m/s
g 14
@ 12
N —_— 4Q=9.75AV
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Pt — AQ=184A4V
z° —— 4Q=394V
i © — AQ=7354V
et
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i
2
0
0 0.02 0.04 0.06 0.08 0.1
FEHE S EE OB E(V) nvs
4.35
Vv 4.35
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0.98 m/s
0.78 m¥/min 147 m®/min
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4.3.5 BOX
BOX 4.6 4.7
4.6 1
M| (mé/min)
0.30 | 1.10 |0.047|0.002|0.002 | 0.000 | 3.280 | 3.697 | 0.001
2.00 |0.002|0.002 | 0.002 | 0.000 | 0.005 | 0.003 | 0.001
0.45 | 3.15 |0.001|0.001|0.001|0.003|0.003 | 0-687 | 0.000
4.09 | 0.002|0.001|0.001|0.003 | 0.003 | 0.002 | 0.000
5.03 |0.001|0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
6.96 | 0.002 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
0.60 | 5.05 |0.001|0.001|0.001]|0.002 | 1.606 | 3.648 | 0.000
6.94 | 0.001|0.001 | 0.001|0.003|0.017 | 1.625 | 0.000
10.03 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.004 | 0.000
14.88 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
4.7 2
"\ (m/min)
0.50 | 4.99 |0.001|0.001]|0.001|0.003 [0.402 | 3.170 | 0.002
6.96 | 0.001 | 0.001 | 0.001 | 0.003 | 0.006 | 0.128 | 0.000
9.63 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
14.90 |0.002 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
0.75 | 6.99 |0.001|0.001|0.001|0.003 | 0.010 | 5.052 | 0.000
10.03 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 1.096 | 0.003
14.90 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 1.632 | 0.000
19.94 | 0.001 | 0.001 | 0.001 | 0.003 | 0.003 | 0.002 | 0.000
1.00 | 15.00 |0.001|0.001 | 0.001 | 0.000 | 1.421 | 2.253 | 0.000
19.94 | 0.001 | 0.001 | 0.001 | 0.003 | 0.033 | 0.481 | 0.000
24.85 | 0.001 | 0.001 | 0.001 | 0.003 | 0.002 | 0.001 | 0.000
30.03 | 0.001 | 0.001 | 0.001 | 0.003 | 0.002 | 0.002 | 0.000
4.6 4.7 BOX
( )
1 450mm A-Line BOX
4.36
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